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Minitab Assignment 5
As before open the file “regress-4sets” into Minitab from mathsci.solano.edu. 

In this assignment you will look at 4 bivariate data sets and create a scatterplot and compute the correlation coefficient and least squares regression equation for each and then compare the results. Data set one is in columns C1 and C2 and the variables are labeled x1 and y1 respectively. Data set two is in C3 and C4 and labeled x2, y2, and so on for data sets 3 and 4.

Scatterplots with fitted regression line with R2 and a residual plot for each of the data sets 

Menus:
Stat>Regression>Fitted Line Plot, make “Response” ‘y1’ and “Predictor” ‘x1’, Make “Type of Regression Model” “linear”.  Click on “Graphs” and in the box for “Residuals versus the variable” enter x1, OK, OK.


Repeat three times for each of the pairs y2, x2; y3, x3; and y4, x4 (replace x1 and y1 with x2, y2 and so on).
Layout 4 of the graphs in a single window. With a graph window open:


Editor>Layout Tool, make “Rows” 2 and “Columns” 2. .(Graphs can be moved into the layout by highlighting and clicking “>”, you can remove a graph from the layout by highlighting it and clicking “<”, graphs can be moved with the layout by dragging). Move into the top left box the Fitted Line Plot for x1 and y1 and into the top right box the Residuals versus x1. In the second row on the left insert the Fitted Line Plot for x2 and y2 and on the right the Residuals versus x2. Click “Finish”. Minimize this layout window so you can create a second layout in the same manner for the graphs of the x3, y3 and x4, y4 variables. Click “Finish”. 
Each layout window is in the form:

	Fitted Line Plot
	Corresponding Residual Plot

	Fitted Line Plot
	Corresponding Residual Plot


Now print the two layout windows.

Exit Minitab

Answer the following questions and turn in with your printed output. Staple this page to the front of your output.

1.
Find the correlation coefficient, r, for each of the sets of data (convert “R-Sq” = R2 , to a decimal and take the square root, round to the nearest hundredth – two places to the right of the decimal point). Note:  R2 and the regression equation are given on both the graph and in the session window. For data set:


#1, r = ______     #2, r = ______     #3, r = ______     #4, r = ______

2.
What is the regression equation for each set (round numbers to the nearest tenth)


Data Set 1: ____________________________________________________________

Data Set 2: ____________________________________________________________


Data Set 3: ____________________________________________________________


Data Set 4: ____________________________________________________________

3.
By looking at the fitted line plots I would conclude that a linear model is appropriate for only one of these four datasets. I concluded that by ignoring the regression line and looking where I might place a point on the scatterplot for x = 10.5 and then seeing how well the corresponding point on the regression line (for x = 10.5) matches up.


For which data set is the linear model is appropriate?
__________________

4.
There is a lesson to be learn here about the analysis of bivariate data beyond the fact that four very different datasets can have almost identical correlation coefficients and regression equations. When analyzing bivariate data in addition to computing r and the regression equation what should one do and why?

